TRd | E T I U U smEeRt

SHICTSHATIAR TE! 30 T8 ?
L Tl

II. 3T
M. 3TAke Raersh

IV. SogafusT

What is the correct chronological order
in which the following rulers ruled in
India ?

I. Sher Shah Suri

II. Akbar

Il.  Ala-ud-din Khilji

IV. TIltutmish

(A) IV,LIULI (B) IV,ILLI
(C) LILULIV (D) ILIV,LII
= 5 9 % 9 ga st o gHeRe = 9 2
(A) qohWH (B) =a=

(C) -HcE (D) SRET

Which one of the following saints was
contemporary of Shivaji ?

(A) Tukaram

(B) Chaitanya

(C) Namdev

(D) Shankaracharya

ST o AW T ST bl o 2

(A) oeTaEd (B) wcansed
(C) e ferem (D) e fam
Who was the first Governor-General of
Bengal ?

(A) Lord Clive

(B) Lord Warren Hastings
(C) Lord Lytton

(D) Lord Ripon

TRH & FEfed §

(A) T (B) Tafehear
(C) FEgHR (D) TR
Charakasambhita is a work on

(A) Polity (B) Medicine
(C) Architecture (D) Mathematics

BETA21

fedasra e ad gz ?

(A) B.C.261 - =famgg

(B) AD.78 — 3% Had ! IEI
(C) AD.622 - Yemyrhiymsm
(D) AD.1709 - U 6

Which one of the following pairs is
incorrectly matched ?
(A) B.C.261 — The Kalinga
War
Commencement
of Saka Era
Commencement
of the Muslim
Era

Death of

Aurangzeb

(B) AD.78 -

(©

AD. 622

(D)  ADyI709 -

STH 9 fpH Rd o “UTU8 3les B3 % W
B ST ST & 2

(A) TEME ARSI (B) Ty, Hl. 9l
(C) TRUSTIE Ugdl (D)  FLaAe s
Who among the following is known as
the “Grand Old Man” of India ?

(A) Dadabhai Naoroji

(B) W.C. Bannerjee

(C) Pherozeshah Mehta

(D) Surendranath Bannerjee

T 1915-16 § fopeeh -Igca o 31 9 &

AT IETS 7
(A) T d8= 3R Arpu Tt
(B) faetep 3t &ATett eieda U

(C) faores 3t farfmag ot

(D) faere 3R aRfes =

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Annie Besant and Lokmanya Tilak
(B) Tilak and Lala Lajpat Roy

(C) Tilak and Bipin Chandra Pal

(D) Tilak and Aurobindo Ghosh




8.

= =1 e =

a. o OIS 1. @t faeerr=<
b. TmEw fiem 2. TEEw A
c. duAW 3. MR
d wemmgs 4. . Al
FH RUEEY
5. wfaTE gl
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. AryaSamaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 2 3 5 1
(B) 3 1 2 4
< 3 1 2 5
(D) 3 2 1 5

Ll 1 T 1 AR Tepar feam 2

(A) TER YeH

(B) STETEEATS H&&

(C) GuIY=g 9"

(D) HETeHT et

Who gave the slogan ‘Do or Die’ ?
(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose
(D) Mahatma Gandhi

10.

11,

i12.

13.

e AT, SE | TR TE S &
T UE § TR 1T Al 39 UE 1 &
fope femm a7

(A) SETEEAT TEE

(B) eIty Ears=n

(C) . o5 9HIg

(D) .. U

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Jawaharlal Nehru

(B) Pattabhi Sitaramaiah

(C) Dr. Rajendra Prasad
(D) 1.B. Kripalani

AT g fortett afasmT fopa gt e g 2
(A, Fre (B) T

&y T (D) =

The Salal hydro-electric project is
located across the river

(A) Jhelum (B) Ravi

(C) Chenab (D) Beas
e Ty gran & -

(A) 219 =& (B) I8SIH

(C) 23fqamsi (D) 22 feammant
Vernal Equinox takes place on

(A) 21% March

(B) 18" June

(C) 23" September

(D) 22° December

TSI H Q! giEgieoHr fores 3camed
*fauafrg s ?

(A) ST (B) =¥Id

(C) e (D) TegfHm
The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Zinc (B) Steel

(C) Copper (D) Aluminium

BETA21



14.

15.

16.

SIS TS o fod &

(A) T I (B) 3&m

(C) ufsememar (D) =«

The Kaziranga National Park is situated
?IIA) Madhya Pradesh

(B) Assam

(C) West Bengal

(D) Kerala

frfafaa o o = o feurerft 7 a3 $i
afear s 2

I e

I T

. S

V. TeEd

(A) I3MRII (B) II3MIII

(C) MI3MIV (D) LIMWIV

Which of the following are rivers of the
Himalayan river system ?

L. Kaveri

II. Ganga

III. Brahmaputra

IV. Godavari

(A) Tandll (B) IIanddll
(C) HIand IV (D) land1V
CEXECaic g

(A) TTEHI g &l T aTeft =T €

(B) g sl gRI it I amed
EIER

(C) dfeh Twenan & A Hl

(D) T % H4T S g Al I Tt

FATRehTRER =T X

Bank rate means

(A) Interest rate charged by
moneylenders

(B) Interest rate charged Dby
scheduled banks

(C) Rate of profit of banking institutions

(D) Official rate of interest charged
by the Central bank of the country

BETA21
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17.

| 18.

19.

fe 3T, 31TS. Foha T 1 T ¢ Tl
GG GalA I AT STER BT 2

(A) I ST TE B |

(B) &< U |

(C) ¢ S |

(D) T8 ¥ IS &

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A)
(B)
(©)
(D)

There will be no impact.
It will decrease.

It will increase.

None of these

90 O TRENTHR sh Teeaaw H aTeHt
oS AfUeR Ba § st amfidw
el =T & Iegd oy 3ANIa
& e ?

(A) dsfrardt (B) wHISHaTd
() fufya (D) dfeas

In which of the following type of
economies, resources are owned

privately and the main objective behind
economic activities is profit-making ?

(A) Capitalist (B) Socialist
(C) Mixed (D) Global

T 92 1 e foheh g SEanaid aiat @ 2
(A) IR .3E. TeR

(B) WRd % UM

(OIRELEEI

(D) fomataa

The One Hundred rupee note bears the
signature of :

(A) RBI Governor

(B) President of India

(C) Finance Minister

(D) Finance Secretary



20. HHT(FEMA) ST ETRTR 7

21.

22.

What is the full form of FEMA ?
(A)
(B)

Funds Exchange Media Agency

Foreign Exchange Management
Act

Finance and Export Management
Association

(©)

(D) Foreign Export Market Agency
YR o HiITH T SH WTeed U9 Eeadl’
foper afireT B 7

(A) TSI

(B) THad g |

(C) wHAH

(D) TTH & 1 T

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) State List

(B) Concurrent List
(C) Union List

(D) None of these

WIRA T TR U Segigdsh 3atd W@t
TR

(A) ¥ AR

(B) HifeTs ey

(C) T Hifa = ey o=

(D) S7H § Ig el

Panchayati Raj System in India is laid
down under

(A)
(B)
©
(D)

Fundamental Rights
Fundamental Duties
Directive Principles of State Policy

None of these

23.

24.

| 25.

| 26.

Tare =1 31forpR wep HifeTs AR 7, S
o gafa 2 -

(A) ITBE2IAH

(B) 3=24 19¥

(C) IATWT29TW 309

(D) 70 & g T

Right to Education is a fundamental
right, which is related to :

(A) Article 21A

(B) Article 19

(C) Articles 29 and 30
(D) None of these

e 4 @ fore gfaum aw § 3eem
TEAT T2

(A) T TE&

(B)  W&TeaT meft

(G) .3R. rEEgH

(D) #.w. T

Who among the following moved the
‘Objective  Resolution”™ in  the
Constituent Assembly ?

(A) Jawaharlal Nehru

(B) Mahatma Gandhi

(C) B.R. Ambedkar
(D) B.N.Rao

T wfgum & fRm sgee H®
SeqEETH = fed Hfed 2 2

(A) FTBT21  (B) I 24
(C) Ig=e29 (D) TTHIARETE
In which Article of Indian Constitution,

the interests of minorities are covered ?
(A) Article 21 (B) Article 24
(C) Article 29 (D) None of these

31 ITeTeh § YT ITE B
(A) e (B) =IgH
(C) HHFisoad (D) STHHBEE

Current carriers in solid conductors are

(A) Protons (B) Neutrons

(C) Free Electrons(D) None of these
BETA21



27.

28.

29.

30.

31.

Y191 oY fehEeh AU I ShE R 7

(A) U I8 1 qTd} 78 Tehe I i hi
(B) IS i & e grr st i gl <t
(C) b H el 3 ST g =it 715 g0 bt
(D) TEATSSIETS ol T 1

Light year is a unit of measurement of

(A) Speed of Rocket measured in a year

(B) Distance travelled by sound in a
vacuum during one year

(C) Distance travelled by light in a
vacuum during one year

(D) Speed of Aeroplane

S I UTeret Rt TETES A T8 Wi R —
(A) hfcaag Tehe (CaSO,)

(B) hfewam riefeetigs (CaOCly)
(C) uifeam STShTaE (NaHCO;)

(D) wifeam FAuEgs (NaCl)

The chemical name of Bleaching
powder is also
(A) Calcium sulphate (CaSO,)

(B) Calcium oxychloride (CaOC/,)
(C) Sodium bicarbonate (NaHCQ3)
(D) Sodium chloride (NaC/)

18- €14 ¥ W H1H 1 vlasia e

The percentage of purc gold in 18-carat
gold is

(A) 60% B) 75%

(C) 80% (D) 100%

Tt # Sgerd § B 8

(A) feifimc  (B) fefima

() feafmB (D) FTHIBETH
Orange contains abundance of

(A) Vitamin C  (B) Vitamin A
(C) Vitamin B (D) None of these

2 n
196 56

(A) 18 (B) 14
(C) 324 (D) 212

BETA21

32.

|33,

| 34,

3s.

885x885x885+115x115x115 _
885x885+115%x115-885x%115

(A) 115 (B) 770
(C) 885 (D) 1000
543 |
N 3Eh TS 2 -
ﬁ_ﬁ is equal to :

+
(A) 4+ 415 (B) 4- 415
© 3 ™ 1

A . B2 T HT 30% T T ITH! Torshil
20% S€ TS | GHMGR i 3T T IqHT F1
AT IST 7

(A)  10% &l (B) 10%9d

(C) 16% 9@l (D) 16%9A

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What

is the effect on the revenue received by
the shopkeeper ?

(A) 10% increase (B)
(C) 16% increase (D)

10% decrease
16% decrease

IR Rgettfedt i 37Ha 39 18.59¥ & | 37K
1= =i 37 i TEH IS 1 S ar 3fred
IH20% TR A 8, AFTHIIT2 :

(A) 2898 (B) 3199

(C) 34ad (D) 37a

The average age of four players is 18.5
years. If the age of the coach is also

included, the average age increases by
20%. The age of the coach is :

(A) 28 years (B) 31 years
(C) 34 years (D) 37 years



36. ‘Thel 1 oo Tee &
(A) S (B)
(C) 9 (D)  3¥betl
37. ‘G4 B EEEAEI HAATE ?
(A) &R (B) 3IEHN
(C) =g (D) &I
38. “HA ! B AT’ a7 @ fore A= few g
forpew @ 9 U wIeg T
(A) HHI<= (B) wHIE
(C) wew (D) wemt

39. TR § GER 9T GETeR 1 379 fafa |
(A) <&l 6T TEAT BT

(B) dIg ¥ wgd el

(C)  wgd ser

(D) W ST

[ 1 1 9 BT |
(A) WeEahidgl  (B) HIEEThIE
(C) uUgETHiAl (D) WETTHIET

40.

Directions : Read the passage careftlly and
answer the corresponding questions :(41-43)

Nehru’s was a many-sideddpersonality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

A

41.

L 42.

| 43.

44,
| 45.

46.

A many-sided personality means

(A) acomplex personality

(B) a secretive personality

(C) aperson having varied interests
(D) acapable person.

Pt. Nehru enjoyed

(A) reading and writing books.

(B) fighting political and social evils.
(C) resisting tyranny.

(D) doing all these and much more.

Which of the following statements
reflects Pt. Nehru’s point of view ?

(A) Humanism is more important than
Scienee.

(B) Science is supreme and Humanism
1s.subordinate to it.

(Chw-Science and Humanism are equally
important.

(D) There is no common ground

between Science and Humanism.

Give Synonym for the following :
Famous

(A) Awful
(C) Popular

(B) Poor
(D) Steady

Give Antonym for the following :

Transparent
(A) Obvious (B) Limpid
(C) Opaque (D) Clear

fqu T foehedi H ¥ HSI¥a weg I T
i ;

gefiferst ; veft - ﬂﬁ?ﬂ‘ﬁ 2?7

(A) T (B) T

(C) wHe (D) TFTaR

Select the related word from the given
alternatives :

Ormnithologist : Birds :: Anthropologist : ?
(A) Plants (B) Animals

(C) Mankind (D) Environment

BETA21



47.

48.

49.

50.

39 362 1 T 1T A THE & FATeh! ITegl
T e 8 v |

(A) @&t (B) W@

(C) = (D) TR

Choose the word which is least like the
other words in the group.

(A) Curd (B) Butter

(C) oil (D) Cheese

fopeht fafgaa %< § PRODUCTIONS &1
QQPCVEUHPMT for@ < 2 | 35t e
T ORIENTATION fore Tepr feram simam 7
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PQIDOVBSINO
(B) PQIDOUBUJPO
(C) PSIFOVBSINO
(D) NSHFMVBSINO

e Y TR 39 ed gu fRee 3 wel
ITeh! T % T I Fehelial O § L,
fifaer @ fora yopm Wt 2,2

(A) F37 (B) (TSIt

(C) = (D) =it 5
Pointing towards Rita, Nikhil said, “I am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Aunt (B) Niece
(C) Mother (D) Cousin

e fonelt o # 25 31T 1 TEAR 2, A1 3%
TEH | diman i 6
If the 25™ of August in a year is

Thursday, the number of Mondays in
that month is

(A) 3
) 5

(B) 4
(D) 6

BETA21

S1.

52.

53.

54.

71 4 | 58 ot ¥ @13 7189 uiEis
%1 T T g3 8 2

(A) AT (B) u=h

(€) == (D) T

In which of the following cities Light
House Project is not implemented ?

(A) Agartala (B) Ranchi

(C) Chennai (D) Patna

1 T AR GLE=R huH1 feredt <hl wi=rell
ECEEECGICICE

(A) Tema-fasn (B)  wrdt wwde
(C) srmsfean (D) SE®HH
Which Indian telecom company is
world’s fifth'strongest brand ?

(A). Reliance-Jio (B) Bharti Airtel
(@) Idea (D) Vodafone

Nee (BOLD — Bamboo Oasis on Lands
in Drought) YTEISHT 2Tt 81 1§ WRd o fhd
T H & HI T8 2

(A) TSRAH (B) EREmom

(€) fomm (D) wed e

The Project BOLD (Bamboo Oasis on

Lands in Drought) was recently launched
from which state in India ?

(A) Rajasthan

(B) Haryana

(C) Bihar

(D) Madhya Pradesh

T Y sl FHide™ (COVAX) FISH1
It hIfds-19 1 qud o= I aTer
UEAT A A AT ?

(A) =T (B) s

(C)  3ITShIshI (D) HeH

Which is first country to get free COVID-
19 vaccines through the COVAX scheme
of United Nations ?
(A) Ghana
(C) Africa

(B) Nigeria
(D) Sudan



55.

56.

57.

58.

siafe § W Al o o 6 gl
3T{h! Afga STaNERE i & 2

(A) Tlwareer (B) & smeen

(C) Fg=»riu™ (D) houdl ArEel
Who is the second Indian born American
woman astronaut to fly to space ?

(A) Sirisha Bandla (B) Shreya Badla
(C) Ritu Karidhal (D) Kalpana Chawla

I A EaH A 1 8, S Ee E

T Siftn < T & |1et o1 wfaes < e 2
(A) IR Ed  (B) gita ofcs
(C) Tamfe (D) ¥&d TR

Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Yogeshwar Dutt

(B) Sumit Malik

(C) Ravinder Singh

(D) Pawan Kumar

HTCd < 98 I 9] Y2H T4 2, &l wWe-
T-TUg 3-hiee Tl o] <l T R 9

(A) ITRI (B) Tewm=ret qgw
(C) e (D) EfEmR

Which State in India is ofifSt_State to |

implement an end to end e-Cabinet System ? | 61

(A) Uttar Pradesh

(B) Himachal Pradesh
(C) Goa

(D) Haryana

forg v e g B & " 2019-

2020 % foTw 3.2 311678 3.+ (UDISE+)
I[E TerdT T 2

(A) wERRA A" (B) e wamer
(C) TR¥Ae™ (D) & T
Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Health

(B) Ministry of Education

(C) Ministry of Finance

(D) Ministry of Home Affairs

59.

60.

L 62.

wréw fmtar e | fora forshe Raarrel
1 AT SIS Traried e TohalT 2

(A) frrewedt (B) w.uh. et
(C) s3miq St (D) Prex g==
Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Virat Kohli

(B) M.S. Dhoni

(C) Ishant Sharma
(D) Shikhar Dhawan

AEERES 3fem™ (Al) Imemia e
“SUPACE” Wa ¥ fop® =amrer o ferg
I[& feRam a9

A) Teecheg=s =mame™

(B) TSI 3= AT

(@) o= A

(D) & & e e

Artificial Intelligence (Al) based portal
‘SUPACE’ launched for which court in
India ?

(A) Delhi High Court

(B) Gujarat High Court
(C) Supreme Court

(D) None of these

TR R U9 a1 & EeT | R
g2

(A) = (B) =R

(C) < D) @

How many Indian States share their
boundary with Nepal ?

(A) Five (B) Four

(C) Three (D) Two

71 o @ e feh hl Teg T SR i 7 2
(A) Shifsm (B) WH ™

(©) feoeft (D) @

Which of the following is the capital of
Costa Rica ?
(A) Beijing
(C) Delhi

(B) San Jose
(D) Dhaka

BETA21



63.

64.

65.

66.

BETA21

hSRITHe Sel AETET <hl SATEHIH WIsT
feadawTg?

(A) dftret (B) WedTeH

() e (D) fagen

Which among the following is the

official language of Union Territory of
Lakshadweep ?

(A) Tamil

(B) Malayalam

(C) Great Andamanese
(D) Sinhala

T o G o SATHR T T b TS
1 FAferhay TEIT FT R 2

As per Constitution of India, what is the
maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 530 (B) 540
(C) 550 (D) 552

T} feag e TR SAT 2 2

(A) Ta=X14  (B) IRILI
(C) TaR2 (D), (TR 3
When is ‘Hindi Diwas®eclebrated ?

(A) September 14 (B) October 1
(C) November2 (D) October3

I Y I AT < ek (SAARC) =T TEE
B2

(A) ST (B) wieATeH!

(C) ARMEE (D) WER

Which of the following countries is not a
member of SAARC ?

(A) Nepal (B) Bangladesh
(C) Afghanistan (D) Myanmar

67.

68.

69.

70.

—10-

frg ¥ 9 fre WM W sEar-tan
T R g 7

(A) STETE (B) feeett

(C) 3ITNTTeTE (D) @IS

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Bengaluru  (B) Delhi
(C) Aurangabad (D) Lucknow

Ao e AT T /g el w1
TR I § 7
(A) 3TEm (B) A

(C) g (D) HAICH
Onamci§ the cultural festival of which
Indian State/ UT ?

(A) Assam (B) Kerala

(C) Tamil Nadu (D) Karnataka

fefafed & @ %9 1 78 @ % 5"
T B 7

(A) Tt (B) =g

(©) = (D) ¥

Which of the following planets is closest
to the Sun ?

(A) Earth (B) Moon

(C) Mars (D) Mercury
e LRI S FTet T TR S o 2
(A) @& mT  (B) TSHameR

(C) TSI M (D) Het T
Who was the first Asian Winner of
Nobel Prize ?

(A) C.V.Raman

(B) Rajiv Gandhi

(C) Rabindranath Tagore

(D) Mother Teresa



T« Freferfiga st oh egd e ufen qen 34
T 3G T (71-75) S ST FHT :

et | g i frefifemati w wgr-wg &
fora Y ¥ R et 3 foe 7 s
w3 Yer fR | TSt et w9 fR A |

3R AT & g fova % 3R & H3R gF i
+f} SIS ST ST Hha1 7 | 378 34 1=l
gdieror oft foram 3t 3 Tt fag gu | e
H fean sigdt 8, GO, O 1 STW1 <l § 3T I
| Om <t Fafirelg Bt 8 | aa: g Hivea 2 f

o o 3T AteET & forger o i Tenfua 71 & i
Hehdl | ST o 39T | A Sd b faehrd

Trd T8l | I UY 1 SUH -7 T8l Hal STl
2, Seifer Tl ol wrife 3R g ter & a2 saHem
THTCHe: i fohT ST = | Wifoes 38 @ =R
3R Y it 3afa off wrifosrat & & wvva Bidl 7,

T AT T <h! AT gR7e gl |

71.  foea ¥ wifs w1 sawEes © 7
(A) W STl % farepre o forg
(B) SAHIIY T&TcHeh il o 7Y,
(C) AR 3R FHiY i 377 % foTQ

(D) 3R H FH3N g bl ft HIUeT T
= g

72.

- 73.

4.
37: BH AT frvd 1 oA ITed §AEH I B |
afesr e @ 2 | sifiE SR e E |
forem 3 wnfe et 5 2 fof e ey

75.

Torva wifa <t zemaT o fore ge® stmawas
7

(A) e s

(B) fedm 3R A

(C)  SATCHYraT 31 i

(D) iem IR AH

F3X B h3T ged hl W hHA 9T A1
Hohdl 3

(A) HFHEH g
(B) T 9TeH g
©) wfemrgr
(D) wIEN

Terelt off Ty % W -71 % U@ a9 §
(A) & 3R e

(B) & 3 M

(C) ITeATer 3R IUTEAT

(D) 3, @ 3R TEATHS B

“faT=q’ 3¢ T I T9T |
(A) wefratfa

(B) ferrgpa

(©) fafiraq

(D) T=

BETA21



éw « Freferfea st = g ufew qen 34
T 3T T (76-80)  IALIHT :

oM S & AHE-sfias %1 Afarsy @

HiI8 377 &9 T ® | AFa-Siie 1 hig o &

fort %6 313yad anfasil & sregan T2 w1 | 35

o 7 8w 3R T, wnfecrer 3R TeEifa,
R A, tfimar 3R fers qen adF o
ares @t Bt i et & fepedt 7 fopeft wu o

F1o STl ¢ | IS foRa 7 | oS wyEr

uftarr ferstrme &1 e B | T 3 = faeft %
THER H oo 98- TG Ot 9el 31

Frgterehiail & & 5 e €, wega o et o
STt b EmTH B @t sttt § off Tl |

? | 9qa: fosm 3Tead ad 6l Ted 5t ke
T TR | 39 91 § AT il SR FTfoeTa
o1 TR &9 @t & | TosH < 3730 § 98 9+
TR Sl FiaTatt 3R FHerst 1 Wi Y
FHIHT S | 378 T8 -3 o T & WAThIcT
wd T el & | fea 9 sw sretifea fA e,

ISUTAT TR feTdn € &, Sed gaTehg [l Wl e |
1 FFTH ST i qThd W1 €1 7 | FHLSH o fafag
G 30 G & | AT U EER o W % |
forehre & o SR I gRA Ta FH A TEE

3R T fova v qfEr-a1 oF @ 2 | B
3T SN o &1 1 IeATEH <6l il ghg B % BRI
A g TR § e v9-uT | 5 R
foren 3t fufren & &7 § fomm & @
st B | e o wedim & wsy et 3

dHG %5 Hh @ TEAHSD hish I TN

sifges foepm Tem fman 2 3R o -

ugld @ % | ame famm-ugfa @ oqsw

FrafavaTal 3R &g -t o gk g Wy
TS Hferd &1 8 G- feram o gehat & 3 gend

BETA21

TS TR Stad St §hdl § | 398 7S % B9 i
T o SyfavamEr, yoget 3R gRparE foam,
VI 3 ST 9 gfh fireft B | fom R ag

| T R | A bl =T, R o o bl 5 W
| & <1 TeTcHeh 11 H G #h |

§ Sh N PG RCAM & | I | o wd w o sl

TS & AT 30 o1 & T

(A) forpa wifvs w1 @mfi 2 |

(B) ¥ehfar 3 sfvrsr o1 fawiit 2 |
(C) |t vitferep gloremati & aro= 7 |
(D) 3T=IET o & H 5&qed L TehdT 3 |

77. 9 farg -Gl o A R wEE a9
ITHR AR foha 7 Toh 30 gfw fireht 2
(A), Hqferd srgfer @
(B) qUH T3 STt @
(C)  YIYYl ®igare! faamom 4
(D) ST ATEH{deh Toosti |

78. Tava & uftamad o= 1 @ %1 g
(A) TG UE SR A9 1 ferepra
(B) famm st mifersfier sifcrat
(C) famm &t Sftem @ wfman
(D) Tova-sryge i vram 1 fawm

79. ‘M Ieg O RN B
(A) TS Y] ATITE ST
(B) U T @ ATaet I &
(C) =eft o foru 3vTeret 1 ag
(D) T 3R SR ST

ATk T TS IRl & | FEmn, fase 3 o 180- "R~ For” wewe & 379 8

(A) T T

(B) wraTeHs fa=aa

(C) Ssmfveni grar fopem T fegmet
(D) %Y Td Hferd foream

-12- A



e (81-85) : e feu 7w T W smeni@ B 1 57
] % I |
Directions (81-85) : The questions are based

on the below shown graph. Answer these
questions.

TT% H Teh T H 7 BT o SH0a™ 3R I
3Tehi ST STUTA AT TR |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
1.3
1.2
1.1

1
¢ 0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

0

AId (Ratio)

1 2 3 4 5 6 7
B (Student)

81. fora o = it i smeAtghieT | e
37 a7t fU 2
How many students got more marks in
History than in Geography ?
(A) 2 By 3
(C) 4 (D) 5

82. T @ 9 foAT B 1 me I 3mE
3fagTE & %1 37 fiel 2
Which of the following students got less
marks in History than in Geography ?
(A) 1,3,5,6 B) 1,2,3,6
C) 1,4,5,7 (D) 4,5,7

: FHed I Tl I Hifgh A |/
80+ Production of Raw wool in Metric Tonnes
76
75+ 7 7
o] % 7
/
60+ % %
56 / %
554 % 51 53 % /
Nl EY 7
T 2 L2 5 €8 I
@ = 8 % g S
& & & & 8§ &

83. W § B 3 § 4 % T 31 i Jawd
§Ed B —
Percentage increase of marks in
Geography from student 3 to 4 is —
(A) 15
B) 20
©) 9
(D) e 379aTH / Insufficient data

84. sfagm@/yma & Ifuspaw U@ 3R
[FaH AU HI AL 7

The difference of the maximum ratio and
minimum ratio of History/Geography is
(A) 045 (B) 0.50

(C) 0.90 (D) 1.20

85. B 4 I ALTA U 60 37 it | 3eh

fagmg H'er® 3

Stadent-4 got 60 marks in Geography.
Hisimarks in History are —

(A) 48

(B) 68

€ 75

(D) 399 ¥ IS 721/ None of these

e (86-90) : TTH w1 eI H F=fafga
T\ﬁﬁ%?ﬁ(éﬁ :

| Directions (86-90) : Study the graph and
. answer the following questions :

| 86. e Il oh IeUTE H S g T T

The maximum rise in the production of
raw wool was in the year :

(A) 2017-18 (B) 2020-21
(C) 2016-17 (D) 2019-20
BETA21



87. g IR TN o IcUTeH I gorT § Afad fdw (91-95) : € ME aifereR % MR W
IR a9 H hed H h IeqTE % TAtTiad T o I G :
EERIEIN Directions (91-95) : Read the following table
Dutine the last . th ducti i and answer the questions given below it.
uring the last four years the production +o el R i A
of raw wool increased by % on = El
the production of the first four years. Yearly Commission Earned by Five
: : Salesmen
(A) 2638 (B) 222 T8 | 2015| 2016| 2017| 2018] 2019| 2020
(C) 198 (D) 25.0 (Year)
i cliaN A A amﬁq
88. 313 99T =h QRIH 3{Hd 3cHIGA AT (Salesman)
, _ , ‘ A 27350| 28500| 25200| 29,800 24,600| 27,000
The average production during the eight B 26850] 27.900] 27400 28000 28500 29,000
years was . C 26200] 27,800| 28200| 29,100] 29.400| 30,000
, D 27,850 (30,040 29,800 30,060 29.800| 32,000
(A) 67.2MT | E 28,640, 29,000| 28750| 30,000| 29,750| 29,700
(B) 62.5MT | AT (Total) | 136,890 | 143,240 | 1,39,350 | 146,960 | 142,050 | 1,47,700
(C) 50.0 MT 91. . ferarad i Aewie C gr 31isia wivH fuse
(D) 52.8 MT a8 61 g1 | STfeehad gfg g g ¢
In which year commission earned by the
] ] salesman C showed the highest increase
89. 3T ¥ fumet oy i ESEL T srfuman that of the preceding year ?
' (C) 2018 (D) 2019
The maximum percentage decréase of ) 5 R
production over the previousiyear was in 92. 20108 H B (, *
the year : 36T 99 % PoT HHEE BT T TR
(A) 2018-19 (B) 2017-18 ST <1 7
, , In the year 2018 the commission of B
() 2013-14 (D) 2014-15 was approximately what percent of the
total commission earned by all salesmen
" in that year ?
90. 2014-15 T Tl S 1 IcdTEH 2019-20 (A) 19.05
3ITEH T T | (B) 98
The production of raw wool in 2014-15 ©) 80\. & .
was of the production in (D) 7 & 18 e/ None of these
2019-20. | 93, TorT Tomh= H 2018 | HHIE, 2015 Fi
n L ® 2 T | 3=an gig quiiar g ?
3 3 Which salesman’s commission in 2018 show
| 3 the highest increase over that in 2015 ?
(©) 5 (D) 7 (A) A (B) B
(¢ D (D) C
BETA21 —14 - A



9.

9s.

T 1 5 form 3 o ot oft Sowim g i
ST 3T =IIH R hT 3R Jehad & ?

In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2017 (B) 2018

(C) 2019 (D) 2020

a4 2019 # Ye¥id D grT A wHvE
A gl AT wHHEE 1 dman feRdar
gfeea @ 2

In the year 2019, commission earned by
salesman D was approximately what

96.

97.

percent of commission earned by A ?

(A)
(B)
(©)

(D) IH T IS 781/ None of these
TR (96-100) : § 778 Arferent /Tmft 1 eTAYES

18
21
52

e o qu 9 few el o 3 e -

Directions (96-100) : Study the table<and

answer the questions given below :

faft= w71 & =R SRR e ® go it <6t

T (Fhei )

Number of accounts openéd (in’hundreds)
in four Share broker in various months

98.

| 99,

IR
SRt/
Share
Broker

wi/

May

I/

June

B

July

IR/
Aug.

e/
Sept.

Tstet /
Angel

25

28

35

65

55

IREH/
Sharekhan

22

18

32

30

45

ST/
Zerodha

30

45

50

35

40

Jegel/

Tradebull

35

42

45

50

60

A

—15—

100.

frrffan § @ fra 560 § S @
T h 37T TEH R ?

(A) (B) feraws

(C) srTEd (D) w§

In which of the following months is the

average of the number of opened
accounts the maximum ?

(A) June (B) September
(C) August (D) May
I H Gl WAl ol F& 5[ H Gl Wl i

AT E T feh a6y 31 s9re off 7
The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

(A) 335 (B) 353

(C). 3h6 (D) 40

T2 O s deh USTel 1 gl @Il ol T@n |
SIS H ol Wl o S 1 ST RS 7
What is the ratio of the number of

accounts opened in Angel to that opened
in Zerodha from May to September ?

(A) 1.5 (B) 0.75

(C) 225 (D) 1.04

forer SRR SRt B oY @t St st S
Hexm g ?

(A) TS (B) @M

(C) ¢egd (D) S

In which Share broker is the average
number of accounts opened the maximum ?
(A) Angel (B) Sharekhan
(C) Tradebull (D) Zerodha

S W Gl @i o ST 1 3T IR@H
H gol @i I &A1 oh IEd HI AT
TeraT wfcrera = a1 SaTeT ot ?

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 57.82 (B) 60

(C) 45.90 (D) 50.69
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